s a power series. Find its radius of convergence and its

1. Represent the function f(x) = 10In(1 + 3z)
interval of convergence.
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2. Find the Maclaurin polynomial of degree 5 for

Use this polynomial to estimate
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3.()WtdwnthMl rin series for f(z) = cos(z*/4).
(b) Compute the 10*" derivative of ¢ os(z?/4) at z = 0.
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4. (a) Find the parametric equations for the line of intersection of the planes x+y+z = 3 and 22 -3y = 6.

(b) Find the distance between the point P(0,0,1) and the line of intersection.
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5. (a) Find the equation of the plane that passes through the three points A(1,0,0), B(0,2,0), and

C(0,0,3).
(b) Find the distance between the origin and this plane.
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6. (Bonus Problem) Given nonzero vectors «,v, and w, use dot product and cross product notation, as
appropriate, to describe the following.

(a) The vector projection of u onto w.
(b) A vector orthogonal to v and wv.

)
(c) A vector orthogonal to u x v and w (you can assume that u is not orthogonal to w).
)

(d) The area of the parallelogram determined by u and w.
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